				·		T								
prepared by JEH	24	Control No.	C 12.050 B A	ઝ		, i					Ċ.			
Solicitat B-12-064-R			TONIO WATER SYSTEM	ing c.		, Ĕ	4		4		LTD.		D	
		SAN AN	IONIO WAIER SYSIEM	& Coatin Co., Inc.	. 223	Co., Ir	78654	Orp	r 78654		tors, L 308 78268		Austin Constructors, LLC	
		P. O. BOX 2	449	Ŭ ć	78. 78.	9 9	Construction Co., Inc rairie Creeek Road e Shoals, TX 78654			San Antonio Constructors, P.O. Box 682008 San Antonio, TX 7826			rs,]	M 973 78719
		SAN ANTO	NIO, TEXAS 78298-2449	8, S	<u> </u>) tio	ctic reec		et I		struc 6820 TX		cto	7 % 7 %
		TABULATI	ON OF BIDS	ting ice	o, 1	Oro Mex Construction 2801 Prairie Creeek Granite Shoals, TX		Atlas Construction Corp 312 Sunset Dr Granite Shoals, TX 7865		mst x 68 2, T			fru	Z X
PROPOSAL:		2012 Water &	& Sewer Construction Package VIII	las	on: inc	nst irie hoa		nst	ns po		Co Boi		suc	o, '.
				Pronto Sandblasting & Coating Oilfield Services, Co., Inc. 9456 South Presa San Antonio, TX 78223			S	၂ ပိ 🤅	312 te Sk		O. Vinte		ŭ	7907 S Austin,
		T.1 12.50	04.0.10.5504	San jelc 94,		lex 1	nit i	Atlas	nit.		Antonio Cons P.O. Box (San Antonio,		Stin	Ar Ar
	Job #'s 12-5084 & 12-5584		to Jiff	San	Z 2	Gra	At.	Gra		Sa		Aus		
TIME &		02:00 P.M.		ron C		Ç.	. 0		O		an		,	
DATE:		November 7,	2012	<u>a</u>							01			
Item Estimate	,	Unit of												
No. Qty		Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price		Total		Total
BA	•				•				•					
SE											0			
Gen														
eral														
	30	LF	(103) Remove Concrete Curb	\$2.00	\$60.00	\$3.00	\$90.00	\$5.00	\$150.00		50		\$3.00	\$90.00
	30	SF	(103) Remove Sidewalks & Driveways	\$3.00	\$90.00	\$3.50	\$105.00	\$10.00	\$300.00				\$2.00	\$60.00
	15	SF	(103) Remove Miscellaneous Concrete	\$35.00	\$525.00	\$4.00	\$60.00	\$10.00	\$150.00		(ID)		\$2.00	\$30.00
4w	10	GAL	(203) Tack Coat	\$10.00	\$100.00	\$6.00	\$60.00	\$10.00	\$100.00				\$8.00	\$80.00
	T		(205) Hot Mix Asphaltic Pavement - Type D (2"								®			
5w 5	507	SY	Compacted Depth)	\$18.00	\$9,126.00	\$13.00	\$6,591.00	\$13.00	\$6,591.00		שט		\$12.00	\$6,084.00
			(206) Asphalt Treated Base (10" Compacted					l			0			
6w 3	399	SY	Depth)	\$63.00	\$25,137.00	\$62.00	\$24,738.00	\$35.00	\$13,965.00		<u> </u>		\$10.00	\$3,990.00
			(206) Asphalt Treated Base (4" Compacted											
7w	50	SY	Depth)	\$30.00	\$1,500.00	\$30.00	\$1,500.00	\$25.00	\$1,250.00		P		\$6.00	\$300.00
	-	~ -	(208) Salvaging, Hauling, and Stockpiling	70000	7 - ,0 - 0 - 1 - 1	70000	7 2,0 0 0 10 0	7=0100	72,22000				7000	700000
8w	20	SY	Reclaimable Asphaltic Pavement (2")	\$50.00	\$1,000.00	\$5.00	\$100.00	\$25.00	\$500.00				\$3.00	\$60.00
9w	40	CY	(413) Flowable Fill	\$120.00	\$4,800.00	\$100.00	\$4,000.00	\$100.00	\$4,000.00				\$100.00	\$4,000.00
			(500) Concrete Curb, Gutter, and Concrete											
	30	LF	Curb and Gutter	\$20.00	\$600.00	\$17.00	\$510.00	\$25.00	\$750.00				\$30.00	\$900.00
11w	8	SY	(502) Concrete Sidewalks	\$70.00	\$560.00	\$40.00	\$320.00	\$100.00	\$800.00				\$63.00	\$504.00
	10	SY	(502) Concrete Wheelchair Ramp	\$100.00	\$1,000.00	\$40.00	\$400.00	\$100.00	\$1,000.00				\$375.00	\$3,750.00
13w	8	SY	(503) Portland Cement Concrete Driveway (503) Portland Cement Concrete Driveway -	\$77.00	\$616.00	\$40.00	\$320.00	\$100.00	\$800.00				\$72.00	\$576.00
14w	8	SY	Commercial	\$80.00	\$640.00	\$40.00	\$320.00	\$100.00	\$800.00				\$72.00	\$576.00
15w	8	SY	(505) Concrete Riprap (5" Thick)	\$100.00	\$800.00	\$40.00	\$320.00	\$100.00	\$800.00			-	\$63.00	\$504.00
15 11		51	(506) Concrete Retaining Walls - Combination	Ψ100.00	φοσο.σσ	ψ10.00	ψ320.00	ψ100.00	φοσο.σσ				ψ02.00	φ301.00
16w	4	CY	Туре	\$750.00	\$3,000.00	\$400.00	\$1,600.00	\$750.00	\$3,000.00				\$350.00	\$1,400.00
	10	CY	(515.1) Topsoil	\$25.00	\$250.00	\$15.00	\$150.00	\$50.00	\$500.00				\$20.00	\$200.00
18w	20	SY	(516.1) Bermuda Sodding	\$6.00	\$120.00	\$10.00	\$200.00	\$25.00	\$500.00				\$6.00	\$120.00
	20	SY	(516.2) St. Augustine Sodding	\$6.00	\$120.00	\$10.00	\$200.00	\$25.00	\$500.00				\$6.00	\$120.00
	980	LF	(550) Trench Protection	\$1.00	\$980.00	\$2.50	\$2,450.00	\$1.00	\$980.00				\$10.00	\$9,800.00
	50	LF	(818) 6" PVC Waterline (Restrained)	\$42.00	\$2,100.00	\$29.00	\$1,450.00	\$50.00	\$2,500.00				\$55.00	\$2,750.00
	500	LF	(818) 8" PVC Waterline (Restrained) (818) 12" PVC Waterline (Restrained)	\$47.00	\$23,500.00	\$32.00	\$16,000.00	\$45.00	\$22,500.00				\$65.00	\$32,500.00
	300 80	LF LF	(818) 12" PVC Waterline (Restrained)	\$58.00 \$140.00	\$17,400.00 \$11,200.00	\$43.00 \$73.00	\$12,900.00 \$5,840.00	\$60.00 \$100.00	\$18,000.00 \$8,000.00				\$70.00 \$130.00	\$21,000.00 \$10,400.00
	50	LF	(818) 24" PVC Waterline (Restrained)	\$180.00	\$9,000.00	\$125.00	\$6,250.00	\$100.00	\$6,250.00				\$250.00	\$10,400.00
	50	LF	(822) Short Yard Piping	\$21.00	\$1,050.00	\$20.00	\$1,000.00	\$45.00	\$2,250.00				\$60.00	\$3,000.00
	50	LF	(822) Long Yard Piping	\$21.00	\$1,050.00	\$25.00	\$1,250.00	\$45.00	\$2,250.00	1			\$60.00	\$3,000.00
28w	2	EA	(824) Reconnect 3/4" Short Service	\$600.00	\$1,200.00	\$700.00	\$1,400.00	\$700.00	\$1,400.00				\$1,500.00	\$3,000.00
29w	2	EA	(824) Reconnect 3/4" Long Service	\$700.00	\$1,400.00	\$800.00	\$1,600.00	\$800.00	\$1,600.00				\$2,000.00	\$4,000.00
30w	8	EA	(824) Relay 3/4" Short Service	\$560.00	\$4,480.00	\$850.00	\$6,800.00	\$700.00	\$5,600.00		0		\$1,000.00	\$8,000.00
31w	8	EA	(824) Relay 3/4" Long Service	\$900.00	\$7,200.00	\$900.00	\$7,200.00	\$800.00	\$6,400.00		(0)		\$1,500.00	\$12,000.00
32w	2	EA	(824) Relay 1" Short Service	\$850.00	\$1,700.00	\$925.00	\$1,850.00	\$850.00	\$1,700.00				\$1,500.00	\$3,000.00
33w	2	EA	(824) Relay 1" Long Service	\$1,300.00	\$2,600.00	\$1,000.00	\$2,000.00	\$950.00	\$1,900.00		455		\$2,000.00	\$4,000.00
34w	2	EA	(824) Relay 1-1/2" Short Service	\$1,250.00	\$2,500.00	\$1,050.00	\$2,100.00	\$1,050.00	\$2,100.00				\$1,500.00	\$3,000.00
35w	2	EA	(824) Relay 1-1/2" Long Service	\$1,950.00	\$3,900.00	\$1,200.00 \$1,300.00	\$2,400.00	\$1,350.00 \$1,450.00	\$2,700.00	 	(1D)		\$2,000.00	\$4,000.00
36w 37w	2	EA EA	(824) Relay 2" Short Service (824) Relay 2" Long Service	\$1,800.00 \$2,600.00	\$3,600.00 \$5,200.00	\$1,300.00 \$1,750.00	\$2,600.00 \$3,500.00	\$1,450.00 \$1,850.00	\$2,900.00 \$3,700.00				\$1,500.00 \$2,000.00	\$3,000.00 \$4,000.00
38w	2	EA EA	(824) New 3/4" Short Service	\$2,600.00	\$1,260.00	\$1,750.00	\$1,600.00	\$1,850.00 \$750.00	\$1,500.00	1	0		\$1,500.00	\$3,000.00
39w	2	EA	(824) New 3/4" Long Service	\$1,000.00	\$2,000.00	\$900.00	\$1,800.00	\$900.00	\$1,800.00		HP-		\$1,500.00	\$3,000.00
40w	2	EA	(824) New 3/4" Short Unmetered Service	\$620.00	\$1,240.00	\$850.00	\$1,700.00	\$850.00	\$1,700.00	1			\$1,200.00	\$2,400.00
41w	2	EA	(824) New 3/4" Long Unmetered Service	\$1,000.00	\$2,000.00	\$900.00	\$1,800.00	\$850.00	\$1,700.00				\$1,500.00	\$3,000.00
42w	2	EA	(824) Relocate 3/4" Short Service	\$660.00	\$1,320.00	\$900.00	\$1,800.00	\$750.00	\$1,500.00				\$1,000.00	\$2,000.00
43w	2	EA	(824) Relocate 3/4" Long Service	\$1,000.00	\$2,000.00	\$900.00	\$1,800.00	\$850.00	\$1,700.00		(10)		\$1,500.00	\$3,000.00
44w		EA	(824) Relocate 1" Short Service	\$760.00	\$1,520.00	\$900.00	\$1,800.00	\$850.00	\$1,700.00				\$1,100.00	\$2,200.00

			.		Т		T		1		-		
prepared by JEH Solicitat B-12-064-RA	Contract M	C-12-059-R A	ચ		.;					ر. ص			
Бонена Б- 12-064-КА		NTONIO WATER SYSTEM	Coating &	κ	Co., Inc.	24 T	۵.	4		Antonio Constructors, LTD P.O. Box 682008 San Antonio, TX 78268		Ų	
	SAIN	INTONIO WATER SISTEM	& Coatin Co., Inc.	223 223		78654	Corp	865		ctors, L 008 78268		TIC	6
	P. O. BO		ر د. د.	78 7.2] g	on (X 7		5 ×	cto1 78 778			Austin Constructors, Ll	3719
		TONIO, TEXAS 78298-2449	8 8 9	Z X	Qro Mex Construction Co., In 2801 Prairie Creeek Road Granite Shoals, TX 78654		ctic	£ .		Stru 582 TX		icto	1 28
		ATION OF BIDS	stin	io,			L.J.	uns als	Antonio Constructor: P.O. Box 682008 San Antonio, TX 785			str.	X
PROPOSAL:	2012 Wa	ter & Sewer Construction Package VIII	Pronto Sandblasting & Coatiny Oilfield Services, Co., Inc. 9456 South Presa San Antonio, TX 78223		ons Sho		Atlas Construction Corp 312 Sunset Dr Granite Shoals, TX 78654			D G. Be ton		on S 7	, i
			mdł 1d S 456 Ant		\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	Pra te S		S12 Ite SI		onic O. An		n C	rust
	Job #'s 12-5084 & 12-5584		nto Sand	, la	Me Ze	Tan	rtla	gani		Anto F San		usti	∢
TIME &	02:00 P.N		ontc Oi	0 2	[0.2	۶ ک	_	ප		S S		Ā	
DATE.	Novembe	-7.2012	Prc							San			
DATE: Item Estimate	Unit of	7,2012		ī			 	1			1		
No. Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price		Total	,	Fotal
45w 2	_	(824) Relocate 1" Long Service	\$1,100.00	\$2,200.00	\$1,050.00	\$2,100.00	\$950.00	\$1,900.00	Cint i i i c	+ <u> </u>	Total	\$1,500.00	\$3,000.00
46w 2		(824) Customer Shut-off Valve	\$130.00	\$260.00	\$1,050.00	\$2,100.00	\$400.00	\$800.00				\$150.00	\$300.00
47w 2		(826) Valve Box Adjustment	\$50.00	\$100.00	\$225.00	\$450.00	\$400.00	\$800.00				\$100.00	\$200.00
48w 2	_	(828) 6" Gate Valve	\$1,100.00	\$2,200.00	\$850.00	\$1,700.00	\$1,000.00	\$2,000.00				\$900.00	\$1,800.00
49w 3		(828) 8" Gate Valve	\$1,300.00	\$3,900.00	\$1,100.00	\$3,300.00	\$1,250.00	\$3,750.00				\$1,200.00	\$3,600.00
50w 2	_	(828) 12" Gate Valve	\$2,400.00	\$4,800.00	\$1,900.00	\$3,800.00	\$2,200.00	\$4,400.00				\$2,000.00	\$4,000.00
51w 1 52w 1	EA EA	(828) 16" Gate Valve (830) 24" Butterfly Valve	\$6,900.00 \$12,000.00	\$6,900.00 \$12,000.00	\$6,000.00 \$11,000.00	\$6,000.00 \$11,000.00	\$7,000.00 \$10,000.00	\$7,000.00 \$10,000.00	 	+		\$5,000.00 \$12,000.00	\$5,000.00 \$12,000.00
52w 1 53w 1	_	(830) 24" Butterfly Valve (831) 6" x 6" Tee Cut in	\$12,000.00 \$1,200.00	\$12,000.00 \$1,200.00	\$11,000.00 \$2,500.00	\$11,000.00	\$10,000.00	\$10,000.00	-	+		\$12,000.00 \$2,500.00	\$12,000.00
54w 1	_	(831) 8" x 6" Tee Cut in	\$1,500.00	\$1,500.00	\$2,650.00	\$2,650.00	\$1,400.00	\$1,400.00				\$2,800.00	\$2,800.00
55w 1	I EA	(831) 8" X 8" Tee Cut in	\$1,800.00	\$1,800.00	\$2,800.00	\$2,800.00	\$1,800.00	\$1,800.00	1	1		\$2,800.00	\$2,800.00
56w 1	_	(832) 12" X 8" Tapping Sleeve & Valve	\$4,500.00	\$4,500.00	\$3,900.00	\$3,900.00	\$2,500.00	\$2,500.00				\$4,000.00	\$4,000.00
57w 1	I EA	(832) 16" X 8" Tapping Sleeve & Valve	\$3,200.00	\$3,200.00	\$4,100.00	\$4,100.00	\$3,500.00	\$3,500.00				\$5,000.00	\$5,000.00
58w 5	5 EA	(833) Existing Meter & Meter Box Relocation	\$100.00	\$500.00	\$300.00	\$1,500.00	\$300.00	\$1,500.00				\$1,500.00	\$7,500.00
		(833) Existing Meter & New Meter Box											
59w 5	_	Relocation	\$120.00	\$600.00	\$350.00	\$1,750.00	\$300.00	\$1,500.00				\$1,600.00	\$8,000.00
60w 5		(833) New Meter Box (834) Fire Hydrant	\$120.00 \$4,200.00	\$600.00 \$8,400.00	\$200.00 \$3,700.00	\$1,000.00 \$7,400.00	\$300.00 \$4,000.00	\$1,500.00 \$8,000.00		205		\$200.00 \$4,000.00	\$1,000.00 \$8,000.00
62w 1.25		(836) Pipe Fittings, All Sizes & Types	\$4,200.00 \$1,000.00	\$1,250.00	\$3,700.00	\$10,000.00	\$4,000.00	\$5,000.00	-			\$5,000.00	\$6,250.00
63w 2	_	(840) 6" Water Tie-Ins	\$1,000.00	\$2,000.00	\$2,700.00	\$5,400.00	\$1,000.00	\$2,000.00				\$3,000.00	\$6,000.00
64w 2		(840) 8" Water Tie-Ins	\$1,200.00	\$2,400.00	\$3,000.00	\$6,000.00	\$1,050.00	\$2,100.00				\$3,200.00	\$6,400.00
65w 2	2 EA	(840) 12" Water Tie-Ins	\$1,700.00	\$3,400.00	\$3,800.00	\$7,600.00	\$1,250.00	\$2,500.00		R		\$4,000.00	\$8,000.00
66w 1	I EA	(840) 16" Water Tie-Ins	\$2,900.00	\$2,900.00	\$4,500.00	\$4,500.00	\$2,000.00	\$2,000.00				\$4,500.00	\$4,500.00
67w 1		(840) 24" Water Tie-In	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00		(JD)		\$6,500.00	\$6,500.00
68w 2	_	(841) Hydrostatic Testing	\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00	\$2,000.00	\$4,000.00				\$1,500.00	\$3,000.00
69w 2 70w 1		(844) 2" Blow-off, Temporary (844) 2" Blow-off, Permanent	\$1,300.00 \$1,300.00	\$2,600.00 \$1,300.00	\$1,500.00 \$1,500.00	\$3,000.00 \$1,500.00	\$1,500.00 \$2,500.00	\$3,000.00 \$2,500.00				\$2,500.00 \$2,500.00	\$5,000.00 \$2,500.00
71w 1	I EA	(844) 4" Blow-off Permanent	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00			1	\$3,000.00	\$3,000.00
72w 1		(844) 4" Blow-off Temporary	\$11,000.00	\$11,000.00	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00		 (AD)		\$3,000.00	\$3,000.00
73w 1	I EA	(846) 1" Air Release Valve	\$1,400.00	\$1,400.00	\$2,250.00	\$2,250.00	\$2,000.00	\$2,000.00		\bigcirc		\$2,200.00	\$2,200.00
74w 1	I EA	(846) 2" Air Release Valve	\$2,100.00	\$2,100.00	\$2,700.00	\$2,700.00	\$3,500.00	\$3,500.00				\$2,500.00	\$2,500.00
75w 20		(856) 18" Steel Casing (Open-Cut)	\$90.00	\$1,800.00	\$140.00	\$2,800.00	\$100.00	\$2,000.00				\$150.00	\$3,000.00
76w 20) LF	(856) 24" Steel Casing (Open Cut)	\$120.00	\$2,400.00	\$160.00	\$3,200.00	\$100.00	\$2,000.00				\$175.00	\$3,500.00
		(856) Jack, Boring and Tunneling 24" Casing					1						
77w 20) LF	(0'-10' Depths)	\$400.00	\$8,000.00	\$260.00	\$5,200.00	\$300.00	\$6,000.00				\$350.00	\$7,000.00
.,,,, 20	LI	(856) Jack, Boring and Tunneling 24" Casing	Ψ.00.00	φο,σσσ.σσ	Ψ200.00	ψυ,200.00	ψ300.00	φυ,000.00		+	-	ψ330.00	Ψ1,000.00
78w 20) LF	(>10' Depths)	\$500.00	\$10,000.00	\$320.00	\$6,400.00	\$450.00	\$9,000.00				\$400.00	\$8,000.00
79w 20) LF	(856) 6" Carrier Pipe	\$41.00	\$820.00	\$40.00	\$800.00	\$85.00	\$1,700.00				\$50.00	\$1,000.00
80w 20		(856) 8" Carrier Pipe	\$56.00	\$1,120.00	\$50.00	\$1,000.00	\$90.00	\$1,800.00				\$52.00	\$1,040.00
81w 20		(856) 12" Carrier Pipe	\$80.00	\$1,600.00	\$68.00	\$1,360.00	\$110.00	\$2,200.00		1		\$55.00	\$1,100.00
82w 20) LF	(856) 16" Carrier Pipe	\$130.00	\$2,600.00	\$100.00	\$2,000.00	\$150.00	\$3,000.00	1	+		\$75.00	\$1,500.00
83w 8	S CY	(858) Concrete Encasement, Cradles, Saddles and Collars	\$130.00	\$1,040.00	\$350.00	\$2,800.00	\$200.00	\$1,600.00				\$400.00	\$3,200.00
0.5 %	, (1	(3000) Removal, Transportation and Disposal	\$150.00	\$1,040.00	\$330.00	\$4,800.00	\$200.00	\$1,000.00	1			φ400.00	\$5,200.00
84w 104	4 LF	of Various sizes of A.C. Pipe	\$18.00	\$1,872.00	\$200.00	\$20,800.00	\$100.00	\$10,400.00				\$300.00	\$31,200.00
		AMOUNT FOR GENERAL WATER BID		. ,5:2:30	,	,		,				, _ , _ , _ ,	, - ,====
SOD-TOTAL	עוע ה	AMOUNT FOR GENERAL WATER BID ITEMS		\$297,706.00		\$296,334.00	1	\$272,936.00					\$375,784.00
		HEMS		\$497,700.00	-	Φ490,334.00	 	\$414,930.00	-				ф3/3,/84.00
							1						
				ļ	 		_		_				
		D117.											
Alley Projects							<u> </u>						
1 wa 40		(103) Remove Concrete Curb	\$2.00	\$80.00	\$3.00	\$120.00	\$5.00	\$200.00		- []		\$3.00	\$120.00
2wa 40		(103) Remove Sidewalks & Driveways	\$3.00	\$120.00	\$3.00	\$120.00	\$10.00	\$400.00				\$2.00	\$80.00
3wa 15	5 SF	(103) Remove Miscellaneous Concrete	\$35.00	\$525.00	\$6.00	\$90.00	\$10.00	\$150.00	1			\$2.00	\$30.00

											-	
prepared by JEH	C · · · N	C 12 050 PA	- શ્ર							Ċ.		
Solicitat B-12-064-RA			Pronto Sandblasting & Coating & Oilfield Services, Co., Inc.	~	Inc Inc	4	0.	4		E	ن	
	SAN AN	TONIO WATER SYSTEM	& Coatin Co., Inc.	223	Co., Ir	78654	Согр	78654		s, 1 268	TIC	
	P. O. BOX		ŭ .	28 / S	S X X X X X X X X X) u	7 7		78.7	Austin Constructors, I	719
	SAN ANTO	NIO, TEXAS 78298-2449	8, 8,) tio	Ê	tio	ī Ē		Eruc 820 IX	cto	TX 7871
	TABULAT	ION OF BIDS	Iblasting Services,	0, t	o Mex Construction Co., Inc. 2801 Prairie Creeek Road Granite Shoals, TX 78654		Atlas Construction (312 Sunset Dr Granite Shoals, TX 7			x 6	T E	X
PROPOSAL:	2012 Water	& Sewer Construction Package VIII	las	oni.	nst rie	hoe	nst	hogh		San Antonio Constructors, LTD. P.O. Box 682008 San Antonio, TX 78268 San Antonio, TX 78268	ons S.	r i
		Ç	to Sandblasting & Coating piffield Services, Co., Inc. 9456 South Presa San Antonio, TX 78223		Qro Mex Constr 2801 Prairie (S)	ပို နို	S I Z		o o v		Austin,
			nto Sanc	y ^E 4	lex lex	nit	las (, iii		P. d	itin 2	Ar
		084 & 12-5584	Lto	\mathbf{S}	M 280	Gra	At	Gra		Sa	Aus	
TIME &	02:00 P.M.		Tool		l ĕ``			J		San	1	
DATE:	November 7	, 2012	<u>~</u>							0 1		
Item Estimate	Unit of											
No. Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Tota	r I	otal
		(206) Asphalt Treated Base (4" Compacted										
4wa 50	SY	Depth)	\$30.00	\$1,500.00	\$36.00	\$1,800.00	\$25.00	\$1,250.00			\$10.00	\$500.00
5wa 40		(413) Flowable Fill	\$120.00	\$4,800.00	\$90.00	\$3,600.00	\$100.00	\$4,000.00			\$100.00	\$4,000.00
	+	(500) Concrete Curb, Gutter, and Concrete	\$1 2 0.00	+ 1,000,00	1,0.00	,500.00	Ţ100.00	÷ 1,000130			+100.00	+ .,000.00
6wa 40) LF	Curb and Gutter	\$20.00	\$800.00	\$17.00	\$680.00	\$25.00	\$1,000.00			\$18.00	\$720.00
7wa 13		(502) Concrete Sidewalks	\$70.00	\$910.00	\$38.00	\$494.00	\$100.00	\$1,300.00			\$63.00	\$819.00
8wa 8	_	(503) Portland Cement Concrete Driveway	\$77.00	\$616.00	\$40.00	\$320.00	\$100.00	\$800.00			\$60.00	\$480.00
		(503) Portland Cement Concrete Driveway -								(UD)		
9wa 13		Commercial	\$80.00	\$1,040.00	\$40.00	\$520.00	\$100.00	\$1,300.00			\$72.00	\$936.00
10wa 10		(515.1) Topsoil	\$25.00	\$250.00	\$15.00	\$150.00	\$100.00	\$1,000.00			\$20.00	\$200.00
11wa 20		(516.1) Bermuda Sodding	\$6.00	\$120.00	\$10.00	\$200.00	\$25.00	\$500.00	ļ		\$6.00	\$120.00
12wa 20		(516.2) St. Augustine Sodding	\$6.00	\$120.00	\$10.00	\$200.00	\$25.00	\$500.00		(AD)	\$6.00	\$120.00
13wa 720		(550) Trench Protection	\$1.00	\$720.00	\$2.00	\$1,440.00	\$1.00	\$720.00			\$10.00	\$7,200.00
14wa 20		(818) 6" PVC Waterline (Restrained)	\$40.00	\$800.00	\$28.00	\$560.00	\$50.00	\$1,000.00			\$55.00	\$1,100.00
15wa 700		(818) 8" PVC Waterline (Restrained)	\$48.00	\$33,600.00	\$30.00	\$21,000.00	\$45.00	\$31,500.00			\$65.00	\$45,500.00
16wa 50		(822) Short Yard Piping	\$21.00	\$1,050.00	\$18.00	\$900.00	\$45.00	\$2,250.00			\$60.00	\$3,000.00
17wa 50		(822) Long Yard Piping	\$21.00	\$1,050.00	\$18.00	\$900.00	\$45.00	\$2,250.00			\$60.00	\$3,000.00
18wa 12 19wa 12		(824) Relay 3/4" Short Service	\$570.00	\$6,840.00 \$11,040.00	\$800.00	\$9,600.00 \$10,800.00	\$750.00 \$850.00	\$9,000.00			\$1,000.00 \$1,500.00	\$12,000.00 \$18,000.00
19wa 12 20wa 2		(824) Relay 3/4" Long Service (824) Relay 1" Short Service	\$920.00 \$850.00	\$11,040.00	\$900.00 \$950.00	\$1,900.00	\$850.00	\$10,200.00 \$1,700.00			\$1,500.00	\$3,000.00
21wa 2		(824) Relay 1" Long Service	\$1,350.00	\$2,700.00	\$1,000.00	\$2,000.00	\$950.00	\$1,700.00			\$2,000.00	\$4,000.00
22wa 2		(824) Relay 1-1/2" Short Service	\$1,250.00	\$2,500.00	\$1,000.00	\$2,000.00	\$1,050.00	\$2,100.00			\$1,500.00	\$3,000.00
23wa 2		(824) Relay 1-1/2" Long Service	\$2,000.00	\$4,000.00	\$1,300.00	\$2,600.00	\$1,350.00	\$2,700.00			\$2,000.00	\$4,000.00
24wa 2		(824) Relay 2" Short Service	\$1,800.00	\$3,600.00	\$1,100.00	\$2,200.00	\$1,450.00	\$2,900.00			\$1,500.00	\$3,000.00
25wa 2		(824) Relay 2" Long Service	\$2,600.00	\$5,200.00	\$1,700.00	\$3,400.00	\$1,850.00	\$3,700.00			\$2,000.00	\$4,000.00
26wa 2		(824) New 3/4" Short Unmetered Service	\$650.00	\$1,300.00	\$800.00	\$1,600.00	\$750.00	\$1,500.00			\$1,000.00	\$2,000.00
27wa 2	EA	(824) New 3/4" Long Unmetered Service	\$1,000.00	\$2,000.00	\$850.00	\$1,700.00	\$850.00	\$1,700.00			\$1,500.00	\$3,000.00
28wa 2	EA	(824) Relocate 3/4" Short Service	\$700.00	\$1,400.00	\$900.00	\$1,800.00	\$750.00	\$1,500.00			\$1,000.00	\$2,000.00
29wa 2	EA	(824) Relocate 3/4" Long Service	\$1,100.00	\$2,200.00	\$975.00	\$1,950.00	\$850.00	\$1,700.00			\$1,500.00	\$3,000.00
30wa 2	EA	(824) Relocate 1" Short Service	\$800.00	\$1,600.00	\$850.00	\$1,700.00	\$950.00	\$1,900.00			\$1,000.00	\$2,000.00
31wa 2		(824) Relocate 1" Long Service	\$1,200.00	\$2,400.00	\$1,050.00	\$2,100.00	\$1,000.00	\$2,000.00			\$1,500.00	\$3,000.00
32wa 3		(824) Customer Shut-off Valve	\$150.00	\$450.00	\$100.00	\$300.00	\$300.00	\$900.00			\$150.00	\$450.00
33wa 3		(826) Valve Box Adjustment	\$50.00	\$150.00	\$200.00	\$600.00	\$300.00	\$900.00			\$100.00	\$300.00
34wa 2		(828) 6" Gate Valve	\$1,100.00	\$2,200.00	\$750.00	\$1,500.00	\$1,100.00	\$2,200.00		1	\$900.00	\$1,800.00
35wa 5		(828) 8" Gate Valve (831) 6" x 6" Tee Cut in	\$1,400.00	\$7,000.00	\$1,150.00	\$5,750.00	\$1,500.00	\$7,500.00			\$1,200.00	\$6,000.00
36wa 1 37w 1		(831) 8" x 6" Tee Cut in (831) 8" x 6" Tee Cut in	\$1,300.00 \$1,600.00	\$1,300.00 \$1,600.00	\$2,800.00 \$2,800.00	\$2,800.00 \$2,800.00	\$2,000.00 \$2,500.00	\$2,000.00 \$2,500.00			\$2,500.00 \$2,800.00	\$2,500.00 \$2,800.00
37w 1 38wa 1	EA EA	(831) 8" X 8" Tee Cut in	\$1,600.00	\$1,600.00	\$2,800.00	\$2,800.00	\$2,500.00	\$2,500.00			\$2,800.00	\$2,800.00
39wa 5		(833) Existing Meter & Meter Box Relocation	\$1,800.00	\$1,800.00	\$3,100.00	\$1,500.00	\$3,300.00	\$1,750.00			\$1,500.00	\$2,800.00
57,114	LA	(833) Existing Meter & New Meter Box	φ100.00	φ500.00	Ψ300.00	φ1,500.00	ψ330.00	φ1,750.00			Ψ1,500.00	Ψ1,500.00
40wa 5	EA	Relocation	\$120.00	\$600.00	\$400.00	\$2,000.00	\$350.00	\$1,750.00			\$1,600.00	\$8,000.00
41wa 5		(833) New Meter Box	\$120.00	\$600.00	\$225.00	\$1,125.00	\$350.00	\$1,750.00			\$250.00	\$1,250.00
42wa 1	-	(834) Fire Hydrant	\$4,200.00	\$4,200.00	\$3,300.00	\$3,300.00	\$4,500.00	\$4,500.00			\$4,000.00	\$4,000.00
43wa 1.25		(836) Pipe Fittings, All Sizes & Types	\$1,000.00	\$1,250.00	\$7,000.00	\$8,750.00	\$4,500.00	\$5,625.00		(AD	\$5,000.00	\$6,250.00
44wa 5	_	(840) 6" Water Tie-Ins	\$1,000.00	\$5,000.00	\$2,800.00	\$14,000.00	\$1,000.00	\$5,000.00			\$2,500.00	\$12,500.00
45wa 2	EA	(840) 8" Water Tie-Ins	\$1,200.00	\$2,400.00	\$3,100.00	\$6,200.00	\$1,100.00	\$2,200.00			\$2,800.00	\$5,600.00
46wa 3	_	(841) Hydrostatic Testing	\$2,000.00	\$6,000.00	\$1,500.00	\$4,500.00	\$2,500.00	\$7,500.00		(D)	\$1,500.00	\$4,500.00
47wa 2	_	(844) 2" Blow-off, Temporary	\$1,300.00	\$2,600.00	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00			\$2,500.00	\$5,000.00
48wa 1	2.1	(844) 2" Blow-off, Permanent	\$1,400.00	\$1,400.00	\$1,750.00	\$1,750.00	\$2,250.00	\$2,250.00		<u>Q</u>	\$2,500.00	\$2,500.00
49wa 1		(846) 1" Air Release Valve	\$1,300.00	\$1,300.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00			\$2,200.00	\$2,200.00
50wa 20		(856) 18" Steel Casing (Open-Cut)	\$90.00	\$1,800.00	\$160.00	\$3,200.00	\$100.00	\$2,000.00		- P	\$150.00	\$3,000.00
51wa 20		(856) 24" Steel Casing (Open Cut)	\$120.00	\$2,400.00	\$210.00	\$4,200.00	\$100.00	\$2,000.00			\$175.00	\$3,500.00
52wa 20		(856) 6" Carrier Pipe	\$41.00	\$820.00	\$50.00	\$1,000.00	\$85.00	\$1,700.00			\$50.00	\$1,000.00
53wa 20) LF	(856) 8" Carrier Pipe	\$57.00	\$1,140.00	\$55.00	\$1,100.00	\$100.00	\$2,000.00			\$52.00	\$1,040.00
		(858) Concrete Encasement, Cradles, Saddles	0100.00	61.040.00	# 400 OC	#2 200 CC	#150 CC	61 200 00			#250.00	# 3 000 00
54wa 8	3 CY	and Collars	\$130.00	\$1,040.00	\$400.00	\$3,200.00	\$150.00	\$1,200.00	Ī	i	\$350.00	\$2,800.00

prepared b				8							_		
Solicita			C-12-059-RA			l lic	- 		4		Ę	7.)	
		SAN AN	NTONIO WATER SYSTEM	ati:	23	0;	78654	orp	78654		7, 7	3	
		P. O. BOX	2449	Pronto Sandblasting & Coating Oilfield Services, Co., Inc.	9450 Soum Presa 1 Antonio, TX 78223	0 5	7 8 7 8	Į Č	78	Antonio Constructors, LTD P.O. Box 682008 San Antonio, TX 78268		.s, I 73 719	
		SAN ANTO	ONIO, TEXAS 78298-2449	\$ °,	ž ×	Qro Mex Construction Co., Inc. 2801 Prairie Creek Road Granite Shoals, TX 78654		Atlas Construction Corp 312 Sunset Dr Granite Shoals, TX 78654		tonio Constructor P.O. Box 682008 Antonio, TX 78;		Austin Constructors, LLC 7907 S. FM 973 Austin, TX 78719	
		TABULAT	TION OF BIDS	nto Sandblasting o	er.] g	ls, '	ק מכן	ls, '	nstr x 68 2, T		I cuc	X 7
PROPO	SAI.	2012 Water	r & Sewer Construction Package VIII	last	žo. Jii.	nst	10a	nstr S	Joan		Co Birico	nst	. =
rkork	DIL.	2012 Water	te bewer construction rackage vin	db I Se	ntc	. S		5.5	7 5	l .	io i D. F	ပိ	7907 Austin
				San	2 4	ex -	ı r	as 6	nite nite		Antonio (P.O. E San Anto	ti	7907 S. Austin, '
	Job #'s 12-5084 & 12-5584		5084 & 12-5584	S of	San	Į Š	on iran	Atlas	irar		An	I vns.	,
TIME	k	02:00 P.M.		O on t) cro	7 0	1	0		San	I	
DATE:		November	7. 2012	F.						1	Ω.		
		Unit of	,, 2012										
	Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total		Total
	(2.5)		(3000) Removal, Transportation and Disposal	Cint Trice	1000	CIIII TTICC	1000		10441		1(10)	·	Jour
55wa	100	LF	of various sizes of A.C. Pipe	\$18.00	\$1,800.00	\$200.00	\$20,000.00	\$100.00	\$10,000.00			\$250.00	\$25,000.00
			4" Temporary Waterline, including fittings, tie										
			ins, service connections, and all appurtenances										
			to provide temporary water main for water main							1		1	
56wa	400	LF	construction	\$50.00	\$20,000.00	\$56.00	\$22,400.00	\$30.00	\$12,000.00			\$45.00	\$18,000.00
1			6" Temporary Waterline, including fittings, tie										
			ins, service connections, and all appurtenances										
			to provide temporary water main for water main										
57wa	400	LF	construction	\$40.00	\$16,000.00	\$58.00	\$23,200.00	\$40.00	\$16,000.00			\$45.00	\$18,000.00
	SUB-TOTA	AL "B" B	ID AMOUNT FOR ALLEY PROJECTS										
			WATER BID ITEMS		\$181,931.00		\$222,219.00		\$198,845.00				\$282,215.00
CIII	TOTAL "	'A'' & ''D	" BID AMOUNT FOR GENERAL AND		, , , , , , , , , ,		, , ,		, ,				, , , , , , , , , , , , , , , , , , , ,
501	-IUIAL				\$470 (27.00		¢£10 ££2 00		¢471 701 00				\$657,000,00
-		Al	LLEY PROJECTS WATER BID ITEMS		\$479,637.00		\$518,553.00		\$471,781.00				\$657,999.00
Gen	eral Sanita	arv Sewe	er Bid Items										
1 s	40	_ •	(103) Remove Concrete Curb	\$2.00	\$80.00	\$3.00	\$120.00	\$5.00	\$200.00			\$3.00	\$120.00
2 s	40		(103) Remove Sidewalks & Driveways	\$3.00	\$120.00	\$3.50	\$140.00	\$10.00	\$400.00			\$2.00	\$80.00
3 s	15	SF	(103) Remove Miscellaneous Concrete	\$35.00	\$525.00	\$6.00	\$90.00	\$10.00	\$150.00			\$2.00	\$30.00
4 s	10	GAL	(203) Tack Coat	\$10.00	\$100.00	\$6.00	\$60.00	\$10.00	\$100.00			\$8.00	\$80.00
			(205) 11 - 15 - 1 - 15 - 15 - 15 - 15 - 15										
5.0	797	SY	(205) Hot Mix Asphaltic Pavement - Type D (2" Compacted Depth)	\$18.00	\$14,346.00	\$15.00	\$11,955.00	\$12.00	\$0.564.00			\$14.00	\$11,158.00
5 s	191	31	Compacted Depth)	\$18.00	\$14,340.00	\$13.00	\$11,933.00	\$12.00	\$9,564.00	-		\$14.00	\$11,138.00
			(206) Asphalt Treated Base (10" Compacted										
6 s	626	SY	Depth)	\$63.00	\$39,438.00	\$62.00	\$38,812.00	\$35.00	\$21,910.00			\$10.00	\$6,260.00
0.5	020			φου.σο	\$25,120.00	ψ0 2. 00	\$20,01 2. 00	422.00	Ψ21,910.00		+00	410.00	ψο, 2 00.00
			(206) Asphalt Treated Base (4" Compacted								0		
7 s	50	SY	Depth)	\$30.00	\$1,500.00	\$30.00	\$1,500.00	\$25.00	\$1,250.00			\$6.00	\$300.00
			(208) Salvaging, Hauling, and Stockpiling										
8 s	20	SY	Reclaimable Asphaltic Pavement (2")	\$50.00	\$1,000.00	\$6.00	\$120.00	\$25.00	\$500.00			\$3.00	\$60.00
9 s	40		(413) Flowable Fill	\$120.00	\$4,800.00	\$100.00	\$4,000.00	\$100.00	\$4,000.00			\$100.00	\$4,000.00
			(500) Concrete Curb, Gutter, and Concrete								(ID)		
10 s	40	LF	Curb and Gutter	\$20.00	\$800.00	\$17.00	\$680.00	\$25.00	\$1,000.00		(4)	\$30.00	\$1,200.00
11 s	13	1	(502) Concrete Sidewalks	\$70.00	\$910.00	\$40.00	\$520.00	\$100.00	\$1,300.00	ļ		\$63.00	\$819.00
12 s	10	1	(502) Concrete Wheelchair Ramp	\$100.00	\$1,000.00	\$40.00	\$400.00	\$100.00	\$1,000.00		(10)	\$375.00	\$3,750.00
13 s	8	1	(503) Portland Cement Concrete Driveway	\$77.00	\$616.00	\$40.00	\$320.00	\$100.00	\$800.00		 	\$48.00	\$384.00
14 s	5	SY	(505) Concrete Riprap (5" Thick)	\$100.00	\$500.00	\$50.00	\$250.00	\$100.00	\$500.00	.		\$63.00	\$315.00
15 0	5	CY	(506) Concrete Retaining Walls - Combination	\$750.00	\$3,750.00	\$420.00	\$2,100.00	\$750.00	\$3,750.00	1		\$400.00	\$2,000.00
15 s 16 s	10		Type (515) Topsoil	\$25.00	\$3,750.00	\$420.00 \$20.00	\$2,100.00	\$50.00	\$5,750.00	 	 (D	\$20.00	\$2,000.00
17 s	20		(516.1) Bermuda Sodding	\$6.00	\$120.00	\$10.00	\$200.00	\$25.00	\$500.00			\$5.00	\$100.00
18 s	20		(516.2) St. Augustine Sodding	\$6.00	\$120.00	\$10.00	\$200.00	\$25.00	\$500.00	1	 ~~~	\$5.00	\$100.00
19 s	1,600		(550) Trench Protection	\$1.00	\$1,600.00	\$2.50	\$4,000.00	\$2.00	\$3,200.00		1	\$2.00	\$3,200.00
			(848) 8" PVC Gravity Sanitary Sewer Pipe										. ,
1			(SDR 26-3034, 115 psi or SDR 26-2241, 160										
20 s	600	LF	psi), (0'-10' Cut)	\$39.00	\$23,400.00	\$42.00	\$25,200.00	\$50.00	\$30,000.00			\$70.00	\$42,000.00
			(848) 8" PVC Gravity Sanitary Sewer Pipe										
1			(SDR 26-3034, 115 psi or SDR 26-2241, 160										
				1	1			I		1	1	1	i e
21 s	100	LF	psi), (10'-14' Cut)	\$48.00	\$4,800.00	\$55.00	\$5,500.00	\$65.00	\$6,500.00		<u> </u>	\$100.00	\$10,000.00

				•		1		1		1		1		
prepared b		Contract No :	C-12-059-RA	- જ		ပ်					O.			
Soficital				Coating Co., Inc.	~	Ĭ,	4 4	<u></u>	4		E		ت ت	
		SAN ANTONIO WATER SYSTEM		l In	223		365	or	r 78654		s, I 268		l i	
		P. O. BOX			Qro Mex Construction Co., Inc. 2801 Prairie Creeek Road Granite Shoals, TX 78654		Atlas Construction Corp 312 Sunset Dr Granite Shoals, TX 78654		ntonio Constructors, LTD. P.O. Box 682008 ın Antonio, TX 78268			, ,	73	
		SAN ANTONIO, TEXAS 78298-2449		Pronto Sandblasting & Coating Oilffeld Services, Co., Inc. 9456 South Presa San Antonio, TX 78223					X 20			tor	FM 973 TX 78719	
	TABI		TION OF BIDS	ing ing	o, 1	JE C	Js,	Tuc.	ls,		nst k 68 o, 7		l Tu	£ ×
PROPO	SAL:	2012 Water	r & Sewer Construction Package VIII	last	onic pnic	nsti	100	nst	noa 10a		Co Biric Biric		nst	S. 1, 1
ricorc	or i.e.	2012 Water	te bewer construction ruckage vin	[db]	ntc 20	, C	S		Z 22		Antonio P.O. I San Anto		Austin Constructors, LLC	7907 S. FM 973 Austin, TX 7871
				San	4 C	ex e	nite	as c	s opite		P.C		tin	75 Au
		Job #'s 12-5	5084 & 12-5584	l S of	Sai	∑ Š	i i	Atlas	ira		Anto F San		vus	,
TIME &	Z	02:00 P.M.		O		Zro	1 0		O		San		4	
DATE:		November 7	7. 2012	P. L.							∞			
Item		Unit of	7, 2012		I	1			1		1			
	Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price		Total		Total
110.	20	Issue	-	Cint i i icc	Total	Cint I I I C	10tai	CIMIL I FICE	Total	Cint i iicc		10141		Total
			(848) 8" PVC Gravity Sanitary Sewer Pipe (SDR 26-3034, 115 psi or SDR 26-2241, 160											
22 s	100	LF	psi), (14'-22' Cut)	\$56.00	\$5,600.00	\$70.00	\$7,000.00	\$110.00	\$11,000.00				\$140.00	\$14,000.00
22 3	100	Li	(848) 10" PVC Gravity Sanitary Sewer Pipe	ψ30.00	ψ5,000.00	Ψ70.00	ψ1,000.00	Ψ110.00	ψ11,000.00				ψ1+0.00	ψ14,000.00
			(SDR 26-3034, 115 psi or SDR 26-2241, 160											
23 s	100	LF	psi), (0'-10' Cut)	\$44.00	\$4,400.00	\$40.00	\$4,000.00	\$60.00	\$6,000.00				\$75.00	\$7,500.00
			(848) 10" PVC Gravity Sanitary Sewer Pipe	7	71,100100	7.000	+ 1,000000	7	70,00000				4,0100	71,00000
			(SDR 26-3034, 115 psi or SDR 26-2241, 160								20			
24 s	100	LF	psi), (10'-14' Cut)	\$52.00	\$5,200.00	\$45.00	\$4,500.00	\$75.00	\$7,500.00				\$105.00	\$10,500.00
			(848) 10" PVC Gravity Sanitary Sewer Pipe		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		, ,		11,711111		D			1 1,41111
			(SDR 26-3034, 115 psi or SDR 26-2241, 160											
25s	100	LF	psi), (14'-22' Cut)	\$62.00	\$6,200.00	\$80.00	\$8,000.00	\$125.00	\$12,500.00				\$140.00	\$14,000.00
			(848) 12" PVC Gravity Sanitary Sewer Pipe		, , , , , , , , , , , , , , , , , , , ,		, , , , , , , , , , , , , , , , , , , ,		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,					, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
			(SDR 26-3034, 115 psi or SDR 26-2241, 160											
26 s	100	LF	psi), (0'-10' Cut)	\$49.00	\$4,900.00	\$49.00	\$4,900.00	\$70.00	\$7,000.00				\$80.00	\$8,000.00
			(848) 12" PVC Gravity Sanitary Sewer Pipe								(D)			. ,
			(SDR 26-3034, 115 psi or SDR 26-2241, 160											
27 s	100	LF	psi), (10'-14' Cut)	\$57.00	\$5,700.00	\$55.00	\$5,500.00	\$85.00	\$8,500.00				\$100.00	\$10,000.00
			(848) 15" PVC Gravity Sanitary Sewer Pipe											
			(SDR 26-3034, 115 psi or SDR 26-2241, 160											
28 s	50	LF	psi), (0'-10' Cut)	\$63.00	\$3,150.00	\$57.00	\$2,850.00	\$85.00	\$4,250.00				\$90.00	\$4,500.00
			(848) 15" PVC Gravity Sanitary Sewer Pipe											
			(SDR 26-3034, 115 psi or SDR 26-2241, 160											
29 s	50	LF	psi), (10'-14' Cut)	\$71.00	\$3,550.00	\$65.00	\$3,250.00	\$115.00	\$5,750.00				\$110.00	\$5,500.00
			(848) 15" PVC Gravity Sanitary Sewer Pipe											
			(SDR 26-3034, 115 psi or SDR 26-2241, 160											
30 s	50	LF	psi), (14'-22' Cut)	\$84.00	\$4,200.00	\$85.00	\$4,250.00	\$125.00	\$6,250.00				\$150.00	\$7,500.00
			(848) 24" PVC Gravity Sanitary Sewer Pipe											
			(SDR 26-3034, 115 psi or SDR 26-2241, 160											
31 s	50	LF	psi), (0'-10' Cut)	\$96.00	\$4,800.00	\$80.00	\$4,000.00	\$125.00	\$6,250.00				\$120.00	\$6,000.00
			(848) 24" PVC Gravity Sanitary Sewer Pipe											
			(SDR 26-3034, 115 psi or SDR 26-2241, 160											
32 s	50	LF	psi), (10'-14' Cut)	\$107.00	\$5,350.00	\$85.00	\$4,250.00	\$150.00	\$7,500.00				\$175.00	\$8,750.00
			(848) 24" PVC Gravity Sanitary Sewer Pipe		,									
			(SDR 26-3034, 115 psi or SDR 26-2241, 160											
33 s	50	LF	psi), (14'-22' Cut)	\$120.00	\$6,000.00	\$100.00	\$5,000.00	\$200.00	\$10,000.00				\$200.00	\$10,000.00
34 s	1	EA	(850) Sanitary Sewer Manhole Structure	\$3,000.00	\$3,000.00	\$12,000.00	\$12,000.00	\$6,000.00	\$6,000.00				\$5,000.00	\$5,000.00
35 s	1	EA	(850) Sanitary Sewer Doghouse Manhole	\$4,000.00	\$4,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00				\$5,000.00	\$5,000.00
			(851) Adjust Existing Manhole (Watertight											
36 s	2	EA	Ring and Cover)	\$400.00	\$800.00	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00				\$2,000.00	\$4,000.00
37 s	6	EA	(852) Sanitary Sewer Manhole (0'-6')	\$3,600.00	\$21,600.00	\$3,300.00	\$19,800.00	\$4,500.00	\$27,000.00				\$4,000.00	\$24,000.00

						1		1		Т			
prepared by JEH Solicitat B-12		Contract No.:	C-12-059-R A	ઝ		ပ်							
Solicital B-12	-004-KA		TONIO WATER SYSTEM	ing ing	~	Ĭ,	ž 72	o.	72	1 5	~	Ŋ	
		SAN AN	IONIO WATER SISTEM	& Coatin Co., Inc.	9430 South Fresa 1 Antonio, TX 78223	,0,0	78654	, Jorg	т 78654	Į į	268	TTC	0
		P. O. BOX 2		C C	28 2 28 2 28 2 28 2 28 2 28 2 28 2 28 2) i	X X X) u	7 ×	cto 000 778		tin Constructors, I 7907 S. FM 973 Austin, TX 78719	
			NIO, TEXAS 78298-2449	8 8 8. 6		ctic	g E	eti E E (T		820 1X		cto	78 X
		TABULAT	ION OF BIDS	Ablasting Services,	io, ,	Ĭ,	als,	Atlas Construction Corp 312 Sunset Dr Granite Shoals, TX 7865		San Antonio Constructors, LTD P.O. Box 682008 San Antonio, TX 78268		stru	E X
PROPOSAL	<i>:</i>	2012 Water	& Sewer Construction Package VIII	olas	S CEI	ons	Oro Mex Construction Co., Inc. 2801 Prairie Creeek Road Granite Shoals, TX 78654		onst 2 Su 3 No		Bc	ons	ii. ^
				ndl Id S	Ant	Ŭ	1 5 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2	ŭ	S 12 te SI te SI	l jä	O. And	J C	90, ust
		Ioh #'s 12-50	084 & 12-5584	Pronto Sandblasting & Coating Oilfield Services, Co., Inc. 9456 South Presa San Antonio, TX 78223		Aex	ani	Atlas	ani	l str	an ,	Austin	1 ₹
TIME &		02:00 P.M.	704 & 12 3304	nto	Š	V 0	§ 5	₹	Ğ	[Ω̈́	Au	
			Pro		Ö				Sal				
DATE:		November 7	, 2012		1	ļ			1	ļ .			T
		Unit of											
No. Qty		Issue	Description	Unit Price	Total	Unit Price		Unit Price	Total	Unit Price	Total	Φ	Total
38 s 39 s	6		(852) Sanitary Sewer Drop Manhole (0'-6') (852) Extra Depth Manholes (greater than 6')	\$5,000.00 \$200.00	\$10,000.00 \$1,200.00	\$4,500.00 \$2,200.00	\$9,000.00 \$13,200.00	\$5,000.00 \$400.00	\$10,000.00 \$2,400.00			\$5,000.00 \$500.00	\$10,000.00 \$3,000.00
398	0	Vr	(854) Sanitary Sewer Laterals, (SDR 26, ASTM	\$200.00	\$1,200.00	\$2,200.00	\$13,200.00	\$400.00	\$2,400.00		50	\$300.00	\$5,000.00
40 s	375	LF	2241, 160 psi)	\$30.00	\$11,250.00	\$50.00	\$18,750.00	\$30.00	\$11,250.00		20	\$40.00	\$15,000.00
41 s	15	1	(854) One-Way Sanitary Sewer Clean-out	\$300.00	\$4,500.00	\$400.00	\$6,000.00	\$650.00	\$9,750.00		(1D)	\$200.00	\$3,000.00
42 s	2		(855) Reconstruction of Existing Manhole	\$1,000.00	\$2,000.00	\$3,250.00	\$6,500.00	\$3,000.00	\$6,000.00			\$3,500.00	\$7,000.00
43 s	20		(856) 18" Steel Casing (Open-Cut)	\$60.00	\$1,200.00	\$150.00	\$3,000.00	\$100.00	\$2,000.00	<u> </u>		\$150.00	\$3,000.00
44 s	20	LF	(856) 24" Steel Casing (Open Cut)	\$80.00	\$1,600.00	\$180.00	\$3,600.00	\$100.00	\$2,000.00		(P)	\$175.00	\$3,500.00
$\lfloor \cdot \rfloor$			(856) Jack, Boring and Tunneling 24" Casing (0-							I 7	5		
45 s	20	LF	10' Depths)	\$400.00	\$8,000.00	\$320.00	\$6,400.00	\$350.00	\$7,000.00			\$350.00	\$7,000.00
16.5	20	1.17	(856) Jack, Boring and Tunneling 24" Casing	Ø500.00	¢10,000,00	\$240.00	¢< 000 00	6450.00	\$9,000.00			6400.00	Φ0 000 00
46 s 47 s	20	LF LF	(greater than 10' Depths) (856) 8" Carrier Pipe	\$500.00 \$40.00	\$10,000.00 \$800.00	\$340.00 \$60.00	\$6,800.00 \$1,200.00	\$450.00 \$85.00	\$9,000.00			\$400.00 \$52.00	\$8,000.00 \$1,040.00
47 s 48 s	40		(856) 12" Carrier Pipe	\$50.00	\$2,000.00	\$68.00	\$2,720.00	\$110.00	\$4,400.00			\$55.00	\$2,200.00
46.5	40	LI	(858) Concrete Encasement, Cradles, Saddles	φ30.00	\$2,000.00	\$08.00	\$2,720.00	\$110.00	\$4,400.00			\$55.00	\$2,200.00
49 s	8	CY	and Collars	\$130.00	\$1,040.00	\$400.00	\$3,200.00	\$150.00	\$1,200.00			\$400.00	\$3,200.00
50 s	5		(860) Vertical Stacks	\$18.00	\$90.00	\$40.00	\$200.00	\$500.00	\$2,500.00			\$60.00	\$300.00
			(862) Abandonment of Sanitary Sewer Main				·						·
51 s	100	LF	(12" or greater)	\$7.00	\$700.00	\$60.00	\$6,000.00	\$30.00	\$3,000.00			\$40.00	\$4,000.00
			(864) Bypass Pumping (8"-12") per each work										
52 s	2	EA	order	\$5,000.00	\$10,000.00	\$4,500.00	\$9,000.00	\$1,500.00	\$3,000.00			\$5,000.00	\$10,000.00
50		F.4	(864) Bypass Pumping (15"-24") per each work	Φ 5 000 00	#10.000.00	#0.000.00	#1 < 000 00	#12 000 00	#24 000 00			Φ π 000 00	#14.000.00
53 s	2	EA	order (866) Pre Sewer Main Television Inspection (8"-	\$5,000.00	\$10,000.00	\$8,000.00	\$16,000.00	\$12,000.00	\$24,000.00			\$7,000.00	\$14,000.00
54 s	300	LF	(800) Fite Sewer Main Television hispection (8 - 24")	\$3.00	\$900.00	\$2.50	\$750.00	\$5.00	\$1,500.00			\$10.00	\$3,000.00
34.8	300	LI	(866) Post Sewer Main Television Inspection	\$3.00	\$900.00	\$2.30	\$750.00	\$5.00	\$1,500.00			\$10.00	\$3,000.00
55 s	1,500	LF	(8"-24")	\$3.00	\$4,500.00	\$3.00	\$4,500.00	\$3.00	\$4,500.00			\$3.00	\$4,500.00
			(4000) Sanitary Sewer Private Laterals (4"-6")	-	. ,		. ,		. ,			·	. ,
56 s	20	LF	(Including COSA permit and licensed plumber)	\$100.00	\$2,000.00	\$100.00	\$2,000.00	\$125.00	\$2,500.00			\$300.00	\$6,000.00
CLID	TOAT	"C" DID A	MOUNT FOR GENERAL SANITARY										
SOB-	TOAL	C BID A	SEWER BID ITEMS		\$270,005.00		¢212 497 00		\$220 924 00				\$338,146.00
			SEWER BID HEMS		\$270,005.00		\$313,487.00		\$329,824.00				\$338,140.00
Alley Pr	rojects	Sanitary	Sewer Bid Items										
1 sa	40	LF	(103) Remove Concrete Curb	\$2.00	\$80.00	\$3.00	\$120.00	\$5.00	\$200.00			\$3.00	\$120.00
2 sa	40		(103) Remove Sidewalks & Driveways	\$3.00	\$120.00	\$3.50	\$140.00	\$10.00	\$400.00			\$2.00	\$80.00
3 sa	15	SF	(103) Remove Miscellaneous Concrete	\$35.00	\$525.00	\$6.00	\$90.00	\$10.00	\$150.00			\$2.00	\$30.00
			(200 4 1 1/2 1/2 1/2 1/2 1/2 1/2 1/2 1/2 1/2 1										
	50	037	(206) Asphalt Treated Base (4" Compacted	#30 C2	Ø1 500 00	645.00	#A 050 00	***	#1.050.00			410.00	##00.CC
4 sa	50		Depth) (413) Flowable Fill	\$30.00	\$1,500.00	\$45.00	\$2,250.00	\$25.00	\$1,250.00			\$10.00 \$100.00	\$500.00
5 sa	40	CY	(413) Flowable Fill (500) Concrete Curb, Gutter, and Concrete	\$120.00	\$4,800.00	\$100.00	\$4,000.00	\$100.00	\$4,000.00	 		\$100.00	\$4,000.00
6 sa	40	LF	Curb and Gutter	\$20.00	\$800.00	\$17.00	\$680.00	\$25.00	\$1,000.00			\$20.00	\$800.00
7 sa	13		(502) Concrete Sidewalks	\$70.00	\$910.00	\$40.00	\$520.00	\$100.00	\$1,300.00	 		\$63.00	\$819.00
8 sa	8		(503) Portland Cement Concrete Driveway	\$77.00	\$616.00	\$50.00	\$400.00	\$100.00	\$800.00		(D)	\$72.00	\$576.00
9 sa	10		(515) Topsoil	\$25.00	\$250.00	\$20.00	\$200.00	\$100.00	\$1,000.00		<u></u>	\$20.00	\$200.00
10 sa	20		(516.1) Bermuda Sodding	\$6.00	\$120.00	\$10.00	\$200.00	\$25.00	\$500.00		(AD	\$5.00	\$100.00
11 sa	20		(516.2) St. Augustine Sodding	\$6.00	\$120.00	\$10.00	\$200.00	\$25.00	\$500.00			\$5.00	\$100.00
12 sa	1,750	LF	(550) Trench Protection	\$1.00	\$1,750.00	\$2.50	\$4,375.00	\$2.00	\$3,500.00			\$2.00	\$3,500.00
			(848) 8" PVC Gravity Sanitary Sewer Pipe										
			(SDR 26-3034, 115 psi or SDR 26-2241, 160				A : :				P		
13 sa	1,000	LF	psi), (0'-10' Cut)	\$39.00	\$39,000.00	\$42.00	\$42,000.00	\$50.00	\$50,000.00			\$60.00	\$60,000.00

prepared by JEH Solicitat B-12-064-RA		SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449		; & Coating & s, Co., Inc.	IX 78223	tion Co., Inc.	TX 78654	Construction Corp	Shoals, TX 78654 Constructors, LTD. Box 682008 Ionio, TX 78268		ctors, LLC	A 973 78719
PROP	OSAL:	TABULATION OF BIDS 2012 Water & Sewer Construction Package VIII		onto Sandblasting & Coati Oilfield Services, Co., In 9456 South Presa San Antonio, TX 78223		Qro Mex Construction Co., Inc. 2801 Prairie Creeek Road Granite Shoals, TX 78654		Atlas Construction 312 Sunset Dr Granite Shoals, TX		Antonio Const P.O. Box 68 San Antonio, T	Austin Constructors,	7907 S. Fiv Austin, TX
TIME	&	Job #'s 12-5084 & 12-5584 02:00 P.M.		Pronto San Oilfield 94. San A		Qro Mex	Granit Granit	Atlas 3		San Antonio P.O. I San Ante	Austir	A)
DATE	1	November	7, 2012		T				T			1
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Total
110.	20	Issue	(848) 8" PVC Gravity Sanitary Sewer Pipe	CIII TTICC	Total	CIIIC TTICC	Total	CIRC I TICC	Total	O C	i otai	Total
14 sa	300	LF	(SDR 26-3034, 115 psi or SDR 26-2241, 160 psi), (10'-14' Cut)	\$49.00	\$14,700.00	\$48.00	\$14,400.00	\$70.00	\$21,000.00		\$100.00	\$30,000.00
			(848) 8" PVC Gravity Sanitary Sewer Pipe (SDR 26-3034, 115 psi or SDR 26-2241, 160									
15 sa	200	LF	psi), (14'-22' Cut) (848) 12" PVC Gravity Sanitary Sewer Pipe (SDP 26 2024 115 pri or SDP 26 2241 160)	\$57.00	\$11,400.00	\$65.00	\$13,000.00	\$110.00	\$22,000.00		\$120.00	\$24,000.00
16 sa	150	LF	(SDR 26-3034, 115 psi or SDR 26-2241, 160 psi), (0'-10' Cut) (848) 12" PVC Gravity Sanitary Sewer Pipe	\$49.00	\$7,350.00	\$50.00	\$7,500.00	\$75.00	\$11,250.00		\$80.00	\$12,000.00
17 sa	50	LF	(SDR 26-3034, 115 psi or SDR 26-2241, 160 psi), (10'-14' Cut)	\$57.00	\$2,850.00	\$55.00	\$2,750.00	\$110.00	\$5,500.00		\$105.00	\$5,250.00
18 sa	50	LF	(848) 12" PVC Gravity Sanitary Sewer Pipe (SDR 26-3034, 115 psi or SDR 26-2241, 160 psi), (14'-22' Cut)	\$69.00	\$3,450.00	\$75.00	\$3,750.00	\$180.00	\$9,000.00		\$140.00	\$7,000.00
			(851) Adjust Existing Manhole (Watertight									
19 sa	2		Ring and Cover) (852) Sanitary Sewer Manhole (0'-6')	\$400.00	\$800.00 \$21,600.00	\$1,500.00 \$3,600.00	\$3,000.00	\$1,500.00	\$3,000.00		\$2,500.00	\$5,000.00
20 sa 21 sa	6 2		(852) Sanitary Sewer Manhole (0'-6')	\$3,600.00 \$5,000.00	\$10,000.00	\$4,500.00	\$21,600.00 \$9,000.00	\$4,000.00 \$5,000.00	\$24,000.00 \$10,000.00		\$4,500.00 \$5,000.00	\$27,000.00 \$10,000.00
22 sa	6		(852) Extra Depth Manholes (greater than 6')	\$200.00	\$1,200.00	\$220.00	\$1,320.00	\$500.00	\$3,000.00		\$500.00	\$3,000.00
23 sa	625		(854) Sanitary Sewer Laterals, (SDR 26, ASTM 2241, 160 psi) (854) One-Way Sanitary Sewer Clean-out	\$52.00	\$32,500.00	\$50.00	\$31,250.00	\$35.00	\$21,875.00		\$40.00	\$25,000.00
24 sa 25 sa	25		(854) One-way Sanitary Sewer Clean-out (855) Reconstruction of Existing Manhole	\$300.00 \$1,000.00	\$7,500.00 \$2,000.00	\$400.00 \$3,000.00	\$10,000.00 \$6,000.00	\$600.00 \$15,000.00	\$15,000.00 \$30,000.00	(0,0)	\$200.00 \$3,500.00	\$5,000.00 \$7,000.00
26 sa	20		(856) 18" Steel Casing (Open-Cut)	\$60.00	\$1,200.00	\$160.00	\$3,200.00	\$100.00	\$2,000.00		\$150.00	\$3,000.00
27 sa	20		(856) 24" Steel Casing (Open Cut)	\$80.00	\$1,600.00	\$200.40	\$4,008.00	\$100.00	\$2,000.00		\$175.00	\$3,500.00
28 sa 29 sa	20 20		(856) 8" Carrier Pipe (856) 12" Carrier Pipe	\$40.00 \$55.00	\$800.00 \$1,100.00	\$55.00 \$62.00	\$1,100.00 \$1,240.00	\$85.00 \$100.00	\$1,700.00 \$2,000.00	202	\$52.00 \$55.00	\$1,040.00 \$1,100.00
29 Sa	20	LI	(858) Concrete Encasement, Cradles, Saddles	\$33.00	\$1,100.00	\$02.00	\$1,240.00	\$100.00	\$2,000.00	50	\$33.00	\$1,100.00
30 sa	8		and Collars	\$130.00	\$1,040.00	\$300.00	\$2,400.00	\$150.00	\$1,200.00	20	\$350.00	\$2,800.00
31 sa	5	VF	(860) Vertical Stacks (864) Bypass Pumping (8"-12") per each work	\$18.00	\$90.00	\$40.00	\$200.00	\$500.00	\$2,500.00		\$90.00	\$450.00
32 sa	2	EA	order (866) Pre Sewer Main Television Inspection (8"-	\$10,000.00	\$20,000.00	\$4,500.00	\$9,000.00	\$2,500.00	\$5,000.00		\$5,000.00	\$10,000.00
33 sa	300	LF	12")	\$3.00	\$900.00	\$2.50	\$750.00	\$5.00	\$1,500.00		\$10.00	\$3,000.00
34 sa	1,750	LF	(866) Post Sewer Main Television Inspection (8"-12")	\$3.00	\$5,250.00	\$3.00	\$5,250.00	\$2.00	\$3,500.00	6	\$3.00	\$5,250.00
35 s	20	LF	(4000) Sanitary Sewer Private Laterals (4"-6") (Including COSA permit and licensed plumber)	\$100.00	\$2,000.00	\$100.00	\$2,000.00	\$125.00	\$2,500.00	(1)	\$500.00	\$10,000.00
	SUB-TO	AL "D" B	BID AMOUNT FOR ALLEY PROJECTS SANITARY SEWER BID ITEMS		\$199,921.00		\$207,893.00		\$264,125.00			\$271,215.00
S	UB-TOAL	"С" & "Г	O'' BID AMOUNT FOR GENERAL AND									
			IECTS SANITARY SEWER BID ITEMS		\$469,926.00		\$521,380.00		\$593,949.00			\$609,361.00
Traff	c Control Bio				·		,		·			ŕ
1	24	МО	(530) Barricades, Signs, and Traffic Handling (includes general/alley projects water and sewer work per work order), per month	\$3,825.00	\$91,800.00	\$500.00	\$12,000.00	\$200.00	\$4,800.00		\$1,500.00	\$36,000.00
			AMOUNT FOR SUB-TOTAL "A" & "B" OTAL "C" & "D" SEWER & TRAFFIC									
			CONTROL		\$1,041,363.00		\$1,051,933.00		\$1,070,530.00			\$1,303,360.00
CALE	CALENDAR DAYS TO COMPLETE				730		730			730		730

prepared by JEH			ಪ		.:				_	·	
Solicitat B-12-064-RA	SAN AN	TONIO WATER SYSTEM	ating Inc.	223	o., Inc	8654	orp	654	1	s, LIL 268	TC
	P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS POSAL: 2012 Water & Sewer Construction Package VIII		ting & Co	um Fresa o, TX 782	ruction Co	: Construction C Prairie Creeek F te Shoals, TX 73		unset Dr als, TX 7		o, TX 782	tructors, I FM 973 IX 78719
PROPOSAL:			ndblasi d Serv	Antoni	Const			312 Su e Shoa		nno Co O. Bo: Antoni	1 Cons 907 S. ustin, 7
	Job #'s 12-50	084 & 12-5584	nto Sa Oilfiel	San 7	o Mex	ranit	Atlas	ranit		Anto P. San /	ustin 79 79 Aus
TIME &	02:00 P.M.		ront	0 1	Şro 7	i	7	Ü	<u> </u>	rigi V	<
DATE:	November 7,	, 2012	Pı						3	2	
	Unit of										
No. Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Tot:	al Total
				[1]		[2]		[3]		[4]	[5]